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Theorem 1. Let there be 3i\/en indeterminates 1w, v, @, Xi, :l/i,, Ly,
for 1 <L < n. We cfefine the fof[owing‘m X 1L matrices

U, U, ... Wy, vy v, . Vi
ki RoVs oo RV v Ral, koo ... Rgiln,
Uy = R, kR, ... R, TR, RV, L RV

(1)
‘Where the rows contain a[mrnaﬁveflw’s and.v'’s. Simi[ar(y:
X X . Xn 1 > e W
Ly, Ly, o Loy CVI CVQ o Lyxa
Xe = | Lx, (2% ... [2xa Y, = Ly, L2y, oo L2V
(2)
There holds
Wi Yj = Vix; 1 U Xy
‘L r ] J — "
LR TG e Y, @

9570@(. Let A, ‘_J§, C, D ber 1 x o matrices, With & and_ C invertible.
Using_ (% g) =(%2) (3 “gjg)we obtain.
A B
c D

“Where vertical bars denote determinants. Let” cﬂ(u_,) = cﬁagﬁ(mb C wm)
and_ p. = T],cicn. We define similarly d.(v), d.(x), d.(y) and
P P Py- From the Jorew’ous i&nu’ty we get”

‘ML(@ Bl (x)

= 1BACICD - A B (1)

Cit By =PI [LONCDLY - L) ELG)

- A L) DL(Y) - LOIA BL ()|
(s)
The SJoecia[ case’A =, B = Cﬁ,gives

Ad() BdL(x)
' (V) BA(Y)

= det(R) det ((ocyy -vix)@B).)

21X 21
(6)



Let” W(Q be the Vandermonde matrix with rows (1...1), (@ .. I{E),
(R2...R2), ..., and. A(k) = de-t” W(R) its determinant. Let®

K= ][ -k (7)

1<m<n.

and let’'C be then x nmatrix (Cbm)lgbmgm,wﬁere theci,'s are

cfeﬁnecf ﬁy the }aam'af fmcu'on expansions:

, t)L_l Cim
1< <n — = — (8)
KO 2= Ty

We have the two matrix equations:

C=Wk)dLiag (KK),. ., Klk,)")  (oa)
c. (ﬁ)lmﬂ,@ W) diag (KC), .. KD  (9b)

This gives the (well-known) identity:

(—L, - %) = diag (KK).. .., KE&IWRWE) Liag (KL, K
] 1<rm1;<m
(10)

We can fﬁUS rewrite tﬁe cfeterminant we want to com})ute as:

'w—ii;%__ﬁ:w = [T K Ga) [T KD | Grclyvir) WRY WLy
g} m |
(1)

We shall now make use of(6>\m'tﬁ A = W(Q and. B = W(L).

o X1
1§1_,J<m

Wiy~ Vi A TT v [WIRL (i) WIL)L(x)
@ WA WILL(K)
[1,C- k) | WRLE) WDLWY),, ..,
(12)
The sigm(—l)"“(”fl)/2 = (—1)[.%] is the signature of the permuta-
tion which excﬁanges rows L and, n_ + Lfor' L =24,.. .,2[%] and,
transforms the determinant on the right-hand side into q\im 9}}

This concludes the }91’00f. ]



